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(4x* =5x3 +3x2 —dx+ 1)+ (2 —x+ 1)

@ 4x2-3x+2 @ 4x%2-x-2 @ 4x?-2x+1

@ —4x2 —x-2 B —4x2+x-2




3.

x o digt oA A = 2x% + 5x2 +4 & t19
2x + 1 o2, Y™ 2|7} —6x + 2 o]}, o] uff,
@ x*+2x+2 @ X +x+2
@ x2—-2x+2 B x2-3x+2



oh2 139] A2t AGHE, AHHY EFCD & E

HAzFgo| 1, AD = a, AB = b 4uf, A3

GBFH 9] {o]=? Gr—H
B—

D @ - 2ab — b2 @ a? + 3b% - 2ab

® -a? + 3ab — 2b> @ -a® + 3ab - b?

® —a? +2ab - b?
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@© m(a+ b) = ma+ mb

@ (a+b)? =a®+ 2ab + b?

® (a-b)(a+b)=a®-b?

@ (x+a)(x+b)=x*+(a+b)x+ab

® a?+b%=(a+b)>-2ab



7. (a-b+c)a-b-c)E H/MNSIH?

@ —-a?+b%-c?+2ca @ a®-b?+ %+ 2ab
® a®+b%+ 2 +abe @ a®-b?-c?+ 2bc

B a2+ b2 =c2=92ab



8.  xty+z=3 xy+yrtax=-1 o x*+y"+22 O] S FOFAY

@D 11 2 12 ® 13 @ 14 ® 15



S oA A, Boll Histe] A+3B=2x2-Tx—1,B—A =2x2-5x-7
i BE?

>
_|_

DO —x+3 @ x-3 ® x>+x+3

@ x2-x-3 B 2-x+3



10.

oFS ka4 A, Bol distod A - BE FohE?

A =2y + x? - 3xy, B=—4x? — 2xy + 5y?

D 5x% —2xy + 3y? @ 5x% — xy - 3y?
® 5x? + xy + 3y? @ 5x% + 2xy — 3y?

3 5x2 + 3xy + 3y?



11, oA (2 + )4 4 1)3 O] 252

@D 52t @ 72+ ® 122 @ 1772 G 723



12. oA f(x)E x+ 18 U %5 0x), UHAE Rol=tar & o,
xf(x) - 3& x+ 12 e 53 YA =?

® xQ(x),-R-3 @ xQ(x),-R+3
® xQ(x),-R-6 @ xQ(x)+R,-R-3

® xQ(x)+R,-R+3



13. = + +1) 9 g2
P (2—1—1)(22 1)(24+1)(28+1)(216 1) 2 ZrS A5
A= oY

O 22 -1
32
@ 23241 ® 231 -1

31
@ 231 11 ® 217 _1



14, (10° +2)° 9] 7 A=) S40] & Toofer.
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16. a+b+c=0,a>+b*>+c? =1L, a®b? + b%c? + 2a® 9] F2?

@ @ @0 @1 ® 4

e
DO | —



